
 

 

 

 

Vendor:IBM

Exam Code:C4090-452

Exam Name:IBM Storwize V7000 Technical Solutions
V2

Version:Demo

 

 



QUESTION 1

Describe the key competitive advantage of IBM integrated Real-time Compression (RtC) over EMC and HP
compression technology. 

A. Operates on active primary data 

B. Achieves up to 40% better compression rates 

C. Provides up to 200% performance improvement 

D. Supports faster and more efficient data copies for online backup 

Correct Answer: A 

 

QUESTION 2

A customer has asked the technical specialist for the recommended number of paths to a volume on their newly
implemented Storwize V7000. 

What is the recommended best practice? 

A. 2 

B. 4 

C. 6 

D. 8 

Correct Answer: B 

 

QUESTION 3

What do the terms `expansion canister\\' and `expansion enclosure\\' refer to relative to the Storwize V7000 or Storwize
V7000 Unified? 

A. Expansion canister is the hardware unit that includes the node canister and drives. Expansion enclosure is a
hardware unit that includes expansion canisters and batteries. 

B. Expansion canister contains the node canisters. Expansion enclosure is a hardware unit that includes the chassis,
node canisters, drives, and power sources that include batteries. 

C. Expansion canister is a hardware unit that includes expansion nodes, drives, and batteries. Expansion enclosure is
the hardware unit that includes the SAS interface hardware that enables the canister to use the drives. 

D. Expansion canister is the hardware unit that includes the SAS interface hardware that enables the node to use the
drives. Expansion enclosure is a hardware unit that includes expansion canisters, drives, and power sources that do not
include batteries. 

Correct Answer: D 



 

QUESTION 4

A customer has asked the technical specialist about security for five hosts connecting via iSCSI to a newly installed
Storwize V7000 system. 

Which of the following items should the specialist suggest to the customer? 

A. Port-based zoning 

B. Direct connections 

C. Virtual LAN (VLAN) 

D. Storwize V7000 port masking 

Correct Answer: C 

 

QUESTION 5

What is the preferred replication method that could achieve best application performance with reduced network
requirements host performance that is independent of the replication, and RPO higher (with default of 10 minutes)? 

A. Metro Mirror 

B. Global Mirror 

C. Global Mirror with Change Volumes 

D. SAN Volume Controller Split cluster 

Correct Answer: C 

 

QUESTION 6

A customer is looking for a cost effective solution that will centralize the management of their existing IBM DS5100 with
120 TB of storage, and EMC CX4-120 with 50 TB storage. The customer also wants the ability to add capacity to the
solution as needed. Which IBM solution best fits the customer requirements? 

A. DS5020 

B. StorwizeV7000 

C. N series Gateway 

D. SAN Volume Controller 

Correct Answer: B 

 

QUESTION 7



In the Storwize V7000.,what is the Node Canister? 

A. A group of 5 drives 

B. The controller ERU 

C. The power supply/fan ERU 

D. Disk expansion interconnect ERU 

Correct Answer: B 

 

QUESTION 8

What cluster system layer is configured when the IBM Storwize V7000 will be used with one or more SAN Volume
Controllers as a Remote Copy partner? 

A. Storage layer 

B. Replication layer 

C. Remote Mirrorlayer 

D. Virtualization layer 

Correct Answer: B 

 

QUESTION 9

Which configuration is supported with asynchronous replication in Storwize V7000 Unified environments? 

A. One file set to one file set target 

B. One filesystem to one filesystem target 

C. One filesystem to multiple filesystem targets 

D. One Storwize V7000 Unified filesystem to multiple Storwize V7000 targets 

Correct Answer: B 

 

QUESTION 10

A customer has asked the technical specialist what host information is needed to allocate storage on a Storwize V7000
SCSI attached system. 

What information should the technical specialist request? 

A. IQN 

B. WWNN 



C. WWPN 

D. IP address 

Correct Answer: A 

 

QUESTION 11

A customer asks if the IBM Storwize V7000 can provide the ability to use CIES. How should the technical specialist
respond? 

A. iSCSI modules can be ordered for the IBM Storwize V7000 to get CIFS. 

B. All models of the IBM Storwize V7000 only present Fibre Channel volumes. 

C. The system must be upgraded to the Storwize V7000 Unified to provide the CIFS functionality. 

D. The IBM Storwize V7000 can provide CIFS if eight or more expansions trays are ordered with the controllers. 

Correct Answer: C 

 

QUESTION 12

A customer wants to use the Real-time Compression feature in a SAN Volume Controller and Storwize V7000
environment. 

Which tool helps determine the capacity savings using this feature? 

A. Disk Magic 

B. Capacity Magic 

C. Comprestimator 

D. Storage Tier Advisory Tool 

Correct Answer: C 



To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success

100% Money Back Guarantee

365 Days Free Update

Instant Download After Purchase

24x7 Customer Support

Average 99.9% Success Rate

More than 800,000 Satisfied Customers Worldwide

Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Powered by TCPDF (www.tcpdf.org)

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org

